1. cviceni - vysledky

6. 10. 2022

Priklad 1.

a. x = 1000

b. z=-1

c. © € {Z +2km, 3T + 2km, k € Z}

d. x =100

e. © € {& +2km, 2T + 2km, k € Z}

f. x = —log, %

g x € {§+2km, 5+ km, 3 + 2kn, k € Z}

h. z = %

i. z € {In3,In4}
Priklad 2.

a. ¢ € (—oo,1] U [2,00)

(
b. € (1—-+v2,1++?2)
(

e. 2 € (—oo,—9 - B¢ 94 V) y(1,2)
£z e (=2,0)U(2,4)

g @ € (~00,—3) U (~1,00)

h. z € (—o0,1)

i z€(-2,0)

j. z € (1,00)

k. z € (—o00, 158 U (15 0)
. zeR
m. z € (—oo, 1] U [2,00)

Priklad 3.
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h.

i.

Je-li a € (—00,0), pak z € R. Je-li a € [0,1], pak € (—o0,—1 — v/1+a)U (-1 —
V1—a,—1+v1—a)U(—=1++/1+a,00). Je-lia € (1,00), pak z € (—o00, —1—+/1 + a)U
(—1++V1+4a,00).

Je-li a € (—00,0], pak = € 0. Je-lia € (0,2], pak z € (-2 —a,a —2) U (2 —a,2 + a).
Je-lia € (2,00), pak € (=2 —a,2 + a).

(2
Je-lia € (—00,0], pak z € 0. Je-lia € (0,4], pak x € (—2++v/4 — a,/a). Je-lia € (4,0),
pak z € (—v/a, Va).
22137_1

Je-li a € {0,1}, pak z € R. Je-li a € (—00,0) U (1,00), pak z € (—o0, =) ). Je-li

2213771

a € (0,1) pak T e (W,OO).

Je-lia =0, pak z € 0. Je-li a € (—00,0), pak x € (0,—a). Je-li a € (0,00) pak
z € (—a,0).

: : —a—1 a-1
Je-li a € (—o0,1], pak z € ). Je-li @ € (1,00), pak = € (=%, %5~).

Jellia < 0, pak z € (2,00 U[-2,-3). Jelia =0, pak z € R. Jeli @ > 0, pak
re (=2, -2)ulo,d).

a’ a ’a

Je-lia =0, pak z € 0. Je-li a =2, pak 2 € R\{0}. Je-li a € {0,2}, pak x = a + 2.

Je-lia =0, pak z = —1. Pro a € R\{0} je z € {—1, %2}

Priklad 4.
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€.

Priklad 5.

3

a. sin(4z) = 4sinx cos® z — 4sin’ z cos x

b. cos(8z) = 128cos®x — 256 cos®z + 160cos* x — 32cos?z — 1, alternativné sin®xz —

28 cos?  sin® x + 70 cos? z sin* & — 28 cos® z sin® z + cos® x
Priklad 6.
a. Vizte vzorové reseni
b. Vizte vzorové feSeni

c. https://maths.cz/clanky/123-odvozeni-vztahu-pro-vypocet-kvadraticke-rovnice
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